TER2TEERERTKRE XFRFER H28.1.9

IBHL | 257 (H—DIL) 4 K £ | ROT | 13TEU| 23780 | 34T | 447480 | 53T4 | 63TH e
1 |AAMNEGGC HFH Lt #F2 50 3 8 12 1 0 0
2 |mRIFT Rzl FF2| 52 2 11 10 1 0 0
3 |B2HKIRGG XEF EF2 55 2 8 13 1 0 0
4 |AHvYAW R =F2 57 2 10 7 5 0 0
5 |[LbbhEor3T aAR 2F2 57 2 7 13 2 0 0
6 |S'-REEF—L Eft BF2 59 2 8 9 5 0 0
7 |mRI7T P EF2 59 2 6 13 3 0 0
8 |L=HhRXIEER B #hF2 59 2 5 15 2 0 0
9 |EAMNEGGC WE EF2 59 1 9 13 1 0 0
9 |MAEIGGEITR BH Hx2 59 1 9 13 1 0 0
9 |MARBEIGGEIR JIE BhAF2 59 1 9 13 1 0 0
12 |2EZIRGG A AEF2| 59 0 14 9 1 0 0
13 |lREI—/LRGGC B RF2 60 2 6 12 4 0 0
14 (W= XEHS BH FEF2| 60 1 11 8 4 0 0
15 |JLURJ—FI ShE #xE2| 60 0 14 8 2 0 0
16 |$£10HFGGC IR EF2 61 2 8 8 5 1 0
17 |REE/IL—7—X957 |KE HF2 61 1 10 10 2 1 0
17 |IUFGGC ZH BF2 61 1 10 10 2 1 0
17 |EBAMNEGGC mAR fHF2 61 1 10 10 2 1 0
20 |EA= hiE SF2 61 1 10 9 4 0 0
21 AR I YEF2 | 61 1 9 11 3 0 0
22 |%10%GGC mAR J%/2 | 61 0 11 13 0 0 0
23 |R=BDOHGG @ F#EF2| 62 1 8 12 3 0 0
24 |%10FGGC EL #itH2 63 1 8 11 4 0 0
25 |SFHIGGC FHE #F2 63 1 7 13 3 0 0
25 |WEIJ—ILRGGC HE 5H2 63 1 7 13 3 0 0
25 |IL=thXIEEAS g HF2 63 1 7 13 3 0 0
28 |BTMI77—X =R EZEEF2| 63 1 6 15 2 0 0
29 |EAMNEGGC FH RF2 63 0 12 9 3 0 0
29 |HBE= B BHE2 63 0 12 9 3 0 0
31 |#wFVIT IS RF2 63 0 11 11 2 0 0
32 |EEBRAGG NI EiF2 64 1 7 12 4 0 0
33 |kyTA—XE FiE XEF2| 64 1 6 14 3 0 0
34 |MSGG%H5T Wil 732 64 0 12 8 4 0 0
35 |REAHTROR EO EF2 64 0 11 10 3 0 0
36 |S'-REEF—L Bt R¥2 64 0 10 12 2 0 0
36 |REATROR =R T/F2 64 0 10 12 2 0 0
38 |Hk2GGYUST Il &%2 65 2 3 13 6 0 0
39 |L=HXEEEIL HAX H+852| 65 1 7 13 2 0 1
40 |EtFS KE ExF2| 65 1 5 15 3 0 0
41 |BERRAIR i FER2 65 0 9 13 2 0 0
42 |#Hk2GGUST KN ZF2 65 0 7 17 0 0 0
43 MREFMEGGC ER #HF2 66 1 6 13 3 1 0
44 |RI—)LA Bk XRF2| 66 0 10 10 4 0 0
45 |JLILEHGGC N D2 66 0 9 12 3 0 0




IBHL | 957 (H—DIL) 4 K £ | R3T | 1FTHEU| 2378 | 3T | 4374 | 53T | 63T I
46 |byTA—XF =i 5hF2 66 0 8 14 2 0 0
47 |FL2R—F W LEH FHF2| 66 0 7 16 1 0 0
48 |HBEIE= EHE X2 67 0 9 11 4 0 0
49 |F=H5H9URTLIHST |HEKR F1F2 67 0 8 13 3 0 0
50 |AHvYALWL A0 #HF2 67 0 7 15 2 0 0
51 £V EGGRIFR hE JNEF2| 68 1 3 17 2 1 0
52 |7 MI57—X AR FFI2 68 0 11 10 4 0 0
53 |EAMEGGC KB fMF2| 68 0 7 14 3 0 0
53 |byTA4—RE ik FF2 68 0 7 14 3 0 0
5 |EFeei= £} fF2 68 0 6 16 2 0 0
56 |RAT—ILRGGC EMR EF2 69 0 9 9 6 0 0
57 |FHIGGC fRE =2 69 0 8 11 5 0 0
58 |HHIE= = RBF2 69 0 6 15 3 0 0
59 |MREI—I/LRGGC BAR Z%2 70 0 4 18 2 0 0
60 |EEPIPIVZT HEH %F2 71 0 8 10 5 1 0
61 |MSGGY357 FE Kk*E2 71 0 6 17 2 0 0
62 |REI—/LRGGC HLE RF2 71 0 5 15 4 0 0
63 |2={kiRGG IWE AE2 71 0 4 17 3 0 0
64 |S'-REEF—L EO REE2 72 0 8 10 4 2 0
65 |FEtF= hH EHHF2| 72 0 6 12 6 0 0
66 |IL2k)—FIL K BEF2| 72 0 5 14 5 0 0
67 |REIETR B LT 73 0 2 19 3 0 0
68 |S-REEF—L F EHFR2| 74 0 7 10 5 2 0
69 |F-BFR Eik 7382 74 0 2 19 3 0 0 PN
70 |(EMMEGGRIF= IS EF2 75 0 5 11 8 0 0
71 |M2GGHST HA A2 79 0 3 13 6 2 0
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